EARAROBEEIERT — 2 N— IBISH —F

201756870 (K) 5EAF#3H

S o R3m® 207 A E27 3K

‘ [Rfg] 2 ‘ [FEERR] — | 4 (&) 12000 &=

[A~&£] 1 7% 1,500,000  ~ 237 :600,000 1

3 & :375,000 @

4 7% 225,000 5 3& :150,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ 4 3 | FEE 1:15.7 9-9 38.9 — 6 434 | FRERAE (KFH)
115/ 6 J4F—L 54.0 (=) (-2) EARRE
L4 O B:NFAXIAIL Ratie]
= it 3 | XEAEZ 1:15.7 4-4 39.6| — 2 456 | MEF (KFH)
2 2 FIVT 1L 54.0 (74%) +3) j:EEEE%
R:HYIRT4 T B:/INTULH W B
- LTI :15. — . — HiBEZ (KH)
N . BESEErE kD N E I R
R:xAIZTF—X B RU—LT1—F2Z B
NI N el Fat : - — 1emEtEie (1)
alzlo|7rvaL—m 4 3 g 1.(126).2 1-1 40.3 3 <4+258) jridses
Rixq4yayR—5— B:aAXETLyILY tE EX
4 3 | BEEX 1:16.3 7-7 39.8| — 8 44 | INEFHFERE ()
51710/ V27—l 54.0 (3/4) (1) | BIIEA
ey AdyR BANTIN=L FBEZX %Y K
o . o pAENES :16. = . — EFRRE (K#H)
6 g| FIVRILL T i 3 54.0 1(31/6;1)5 1212 ) 39.1 ’ (3+923) EHZH
R:VZRE—IZ2E— B:HIIFLN—h i g
_ . . LEHR :16. - . - AR =E )]
7 7| IXFod—ak i 3 o= 1(11/62>6 11-10 | 39.3 10 :?2) EILJ\EE“EEH
LN—=VFNTyPa BTIFFTVa-N AN
ST AR : — — FEEBRIK (KH)
gl1]1|byBh—IL> R AR 171?:? 0 104 ° ;‘:‘34) ERE
R:TVv AT hyh— BRIXZ—FT7 T [l e]
5 _ # 3 | FHEFEE 1:16.7 10-11 39.7 — 11 477 | IBE=RE (KH)
9/8l11| ¥BF= 5.0 (1/2) 4 | . ;iét??—L\
LA LINT Ry IZX BIILTAZHLyY b HET7— L
ft 3 | FHEE 1:16.8 2-2 40.8| — 7 476 | HESRISHD (/1\4K)
10(5]5|1/3 54.0 (172 o | FERE
R:2%— k770> B:¥atT74—X P e
. FREA :16. -~ . — AEFE (KH)
1 4| 7E-LVUILE it 3 o 1(11/62>9 8-7 40.3 12 ;1_262) s
L:Tv AT by h— BiXU—F%tF Pl e
= s 3 | I 1:17.3 2-3 N3 — 1 460 | BEBUEXR (KFH)
12|8[12| T>7 =~ A=}t 54.0 @ o | e
R:T7ITRATTaIL BS54 hNn—F LB
® I —F—EBIERL
13—7—
23—7F—
G§a=7r= 9,(5,12),2,1,3,10,4,6,11,7,8
43—+ — 9,5,12,2,3,1,(4,10),6,7,11,8
[ RN
BB 6 2,020 714K 2-6 1,040H e & 2-5 1,670M &R 2-3-6 7,490
8 B 6 3509 3-6 1,360M B 572 3,930 JEH 6-2-3 64,930
2 1704 2-3 810 B E 2-6 3,280
8 240M B H 6-2 11,280H

ABICOVWTRDTEEERROODE. TR LIV,




